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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
g T
[R5 raiE ]
= 1 134, 630, 869
ER LT
= 1 1, 756, 011
Fe AL T
= 1 1, 756, 011
RCAG M T
(P5ARGID)
= 1 104, 283, 501
E¥LT
= 1 928, 275
LTFIAL L
= 1 41, 696, 558
ST HTHL HiE 1500mm #if F%EHE) 24. Om
/))-h(675)
VN 12 3, 442, 492 41, 309, 904
FEA (V-27) +H
m3 580 233.6 135, 488
PRauRiiig av9Y)=hik (JE57)
m3 41 3,967 162, 647
ALy av9Y)=hik (JE57)
m3 41 2,159 88, 519
R AR 4 L
= 1 61, 658, 668
R RC-40 t=20cm
m2 130 1,233 160, 290
Hravy)-p 1% t=10cm
m2 130 2,627 341, 510
EVZAR 55
m3 373 23,433 8, 740, 509
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THEXy « T - FER - 5 MO LFENAL B G EHAm & TE (B ESM)
EVZAR 25
m3 594 22,983 13, 651, 902
AR SD345 D38
t 80. 13 146, 393 11, 730, 471
AR SD345 D29~32
t 13.01 136, 652 1,777, 842
AR SD345 D16~25
t 62.17 163, 118 10, 141, 046
Tl — AT 544m2
= 1 4, 301, 408
A SR 26m2
= 1 253, 006
X 7207%m3
= 1 3, 666, 240
&Y 97042
= 1 4, 130, 260
P9/ 22l R Ao $350 L=1670mm
T 12 3,913 46, 956
P 22 i P ¢ 350 L=1700mm
T 12 3,983 47,796
Fthag A ¢ 350
T 2 102, 466 204, 932
HIERA IR
m2 265 9, 300 2, 464, 500
RCAG M T
(P5THG )
= 1 18, 529, 439
R AR 4 L
= 1 18, 529, 439
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TRy - T - A% - A5 MO LFENAL B G EHAm #H TE (B ESM)
EVZAR 25
m3 243 22,983 5, 584, 869
AR SD345 D38
t 10. 41 150, 528 1, 566, 996
AR SD345 D35
t 6.3 147, 496 929, 224
AR SD345 D29~32
t 3.86 137, 846 532, 085
AR SD345 D16~25
t 12. 03 139, 317 1, 675, 983
Tl — AT 190m2
= 1 1, 502, 330
X 45072m3
= 1 2,291, 400
&Y 65042
= 1 2, 767, 700
P9/ 22l R Ao $300 L=1170mm
T 12 1, 650 19, 800
P 22 i P $ 300 L=1200mm
T 12 1, 692 20, 304
Fthag A ¢ 300
T 2 70, 724 141, 448
HIERA IR
m2 161 9, 300 1, 497, 300
AR L
= 1 99, 910
St L
= 1 99, 910
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
B W R A4 300X200X 13
e 2 49, 955 99,910
HEE L
= 1 152, 390
RS B LT
= 1 91, 130
/) ) -MEIEBUE L ARG E
m3 10 9,113 91, 130
TEHR LB T
= 1 61, 260
PRauRiiie av7Y)=hik (JE57)
m3 10 3,967 39, 670
ALy av9Y)=hik (IE57)
m3 10 2,159 21, 590
G an
= 1 9, 809, 618
- 8F - B T
(P5AKE D)
= 1 9, 809, 618
JERK R
[ SR EN AN 2]
= 1 8, 890, 831
ER LT
= 1 138, 813
Fe AL T
= 1 138, 813
I
= 1 62, 460
Pk Al T
HLE AR (A)
= 1 62, 460
-4 - Ehzzmd  HPEHT R
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
& e (OE - D) RC-30 t=100mm
m2 4 1,049 4,196
e R (R - B RM-30 t=40mm
m2 4 991 3,964
e R (R - BRI FIEASZEEALEE (20) t=50mm
m2 5 3, 758 18, 790
e (BOE - B FRAHLRL EEASTCE T 71 (20) t=50m
m
m2 5 3, 427 17,135
HEKVESEE - %8 (3 - BJF | K v AsHRL (13) t=50mm
#R)
m2 5 3,675 18, 375
Bkt 1
= 1 6, 422, 895
E¥LT
= 1 544, 444
18T
= 1 3, 587, 372
7" VR A NURIRI T
PU1-B300-H300
m 335 8, 184 2, 741, 640
7" VR A NURIHI T
PU1-B360-H360
m 23 9, 058 208, 334
TR
m 6 106, 233 637, 398
HIRT
= 1 35, 401
ta-0E BIEE)
P1-RC1-D300
m 2 16, 725 33, 450
KRR
1B
m 0.5 3,902 1,951
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TRy - T - A% - A5 MO LFENAL B G EHAm #H T2 (BB
KM/ k- L
= 1 2, 255, 678
7" VA MET ST
1S HTI M
T 8 85, 805 686, 440
7" VA MET ST
295k U
T 2 106, 233 212, 466
7" VA MET ST
3 U
T 1 338, 735 338, 735
7" VA MET ST
45 U
T 1 361, 617 361, 617
7" VA MET ST
551 SR
T 1 96, 492 96, 492
= T-25 #k/C500 X 500/ A H AL
k& E
VAN V7 AE
e 9 28, 396 255, 564
= T-25 #7600 X 600 A H R
k& E
VAN V7 AE
e 2 40, 159 80, 318
ES T-25 #7800 X 800 A H AR/
k& E
VA2 2
e 1 87,578 87,578
ES T-25 #k7T800 X 800 HIE AR/
k& E
VA2 2
e 1 136, 468 136, 468
HEE
= 1 49, 003
RS B L T
= 1 28, 731
AR BT TAT7VMESERR t=15cm% #8 % 30cm
LUF
m 12 1, 630 19, 560
LR TAT7VMERSERR t=15cm% #8 % 35cm
LUF
m2 9 1,019 9,171
-6 - Ehzzmd  HPEHT R




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TEHR LB T
= 1 20, 272
I TAT 7 bk
m3 2 4, 090 8, 180
ALy TAT 7 bk
m3 2 6, 046 12, 092
Gan
= 1 2,217, 660
ARmE T
= 1 2,217, 660
B TR
= 1 143, 521, 700
MR E
= 1 25, 695, 053
B3 TS
= 1 8,242, 7137
TR
= 1 4, 094, 024
TR AR T W3 1=
= 1 2, 118, 244
TR AR T 3 1=
= 1 1,009, 038
IR T 207. 5t
= 1 966, 742
et By
= 1 1,108, 733
JE R FEART e
= 1 54, 035
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HERBRE
= 1 1, 054, 698
BGmEsET (K30
= 1 3, 039, 980
HIMGERE (FE L)
= 1 17, 452, 316
Wi
= 1 169, 216, 753
B
= 1 56, 081, 568
T AT
= 1 225, 298, 321
— R
= 1 34,101, 679
TS
= 1 259, 400, 000
THEBLFH Y %H
= 1 25, 940, 000
TH#&G
= 1 285, 340, 000
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